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QUESTION 1

In transitioning SnapVault relationships from 7-mode to clustered Data ONTAP, which statements are true? (Choose
three)

A. You are required to re-create all Snapvault relationships with new baseline

B. You can plan on fan-in relationships of many source volume to one destination volume
C. You can plan on fan-in relationships at the system level, many volumes to one Vserver
D. You can plan on SnapMirror to SnapVault cascades

Correct Answer: ACD

QUESTION 2

With clustered Data ONTAP 8.2 or later, which SAN component will no longer be supported?
A. Windows Server 2012

B. vSphere 5.1

C. Veritas DMP

D. Red Hat Enterprise Linux 6.2

E.AIX7.1

Correct Answer: C

QUESTION 3

A company has a vault relationship between ClusterA and ClusterB. After a month of operations, the SnapVault update
fails. The primary and secondary volumes have been thin provisioned and are reporting available space. There is
connectivity between ClusterA and ClusterB.

What caused the update failure?

A. The primary volume\\'s aggregate is full.

B. The secondary volume\\'s aggregate is full.

C. A cluster peering relationship was not refreshed every month.

D. There are 251 Snapshot copies on the destination SnapVault.

Correct Answer: C
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QUESTION 4

What kind of structure can be deduplicated?
A. A disk

B. An aggregate

C. A FlexVol

D. a gtree

Correct Answer: C

https://communities.netapp.com/community/netapp-blogs/drdedupe/blog/2010/04/07/hownetappdeduplication-works--a-
primer

QUESTION 5

Which NetApp Virtual Storage Tier component works aggregate-wide on a FAS controller?
A. Flash 110

B. Flash Cache

C. Flash Accel

D. Flash Disk

E. Flash Pool

Correct Answer: B

https://communities.netapp.com/docs/DOC-19016 (first bulleted point on the page)
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